B R & Mae PR EES B &

z & & & F

(AIMHIEN KRBT A LV AEE S OHR)

30
% =it4 F5 IH H i xR Eranl
22 A HEESE | FERIN tpamEre i | RILEHE Y AR SRR 304E3 A SRR 304E3 A — %G AKL
B ey M| &4 Rt pr
. L . LRI RS B S PRRSA4ESABIA £ T
& ( M) RE W02 B 55 S50 T M BRELZE RS INSTHERXEE =T H [ ﬂﬁgﬁzg@ﬁlgn\%ﬂzhﬁs@éﬁ 31HET

MATERN o AREBIL, BT L EEEREKIRORE LTI H D Th A,

PX n+%%

5]

AT 120

BEEFAC S P S




Zith

o o) R0 2 BRI SR T M B 7

N B
T F-4 Bl JoIk « ~HE[ AL E(HE il & | W W
AT 4 4.00 %1 SRS
[ERET T
i ik 2y 1. 00
LESEE
B Bt = 1. 00
25 A
— R E = 1. 00
= 3 ALERE 4 4. 00 % 25K
=t
ZEtkt = 1. 00
THE B M OV 7 W e Bl AR 24 %8 8%
&t




% 1 5 M B &
N S
T i i AR - SHE[ AL 12 E(HE | & Wl 2
AT A 1, 630m X 3[a] moadEat | m | 4,890 %1 5 RhES R
TAITB 2, 7101 X 2[A] BoAdEET | m | 5,420 % 1 5 RhES R
TAT.C 1,910m X 2[A] AL | | 3,820 %é{%g%g@)
TATD 2, 750m X 1[A] AL | o | 2, 750 % 2 il

(BRIt Tr)




£ 2 5 = 3 JLEE
N 7w
T i 5 JoAR « ~HE[ B | £ & #H
Q37

€




s 1 =2 TXTA. B (1000m%4 Y ) — £ R fli &
N R THDFREL2 0% HEMFRELS 0 % BRA - ST
T Fifi Rl &

JeAR - SHEE| AL E|E | 4

A T Ci3
PRI PR TR H# m 800 3 TULFR SR
FA Y s m 200 HATRAME SR




s 2 B THTC, D (1000m%4 Y ) — £ R fli &
N R THDFREL2 0% HEMFRELS 0 % BAZe L. SRS T
T Fifi FE B Vi N - BN VAL G - =R i 1] %A T Ci3
H A B 5 TR H# m 800 5 5L RS R
TR D B nt 200 Ho T UmF SR




s 3 & PR A (100000 ) — fiL AR Ml %
i ; FRiA - o (15km) ZEe
T fill il AR - SHE[BAL 1 E(H ]| & || H
FERIER R A
TmIEES A
BAFER A
JE AR EAE R R H
R HERY %
TwIEES A A
A L L2 t IR 1] B TR S
R HERY %
At
1m¥%7=0




% 4 B FXI) ) [ EE (10004 v ) — fir X i %
i ; FeiA - JEfE (15km) Fie
T fil il AR - SHE[BAL| e & fili| 4 (U] H

TIEEER A

AEHER %

HIBEER N

N L 2 tHf R[] 57 S RAm#R S
R HERY %




S 5 5 PR JA (1000m4 v ) — fir X i *
i ; FHIAZR L
T fill il AR - SHE[BAL 1 E(H ]| & (U] H
KPR E¥ R A
HIBEER A
BAFER A
JB B RN R R H
R HERY %

&t

14729




% 6 o2 TH] D FREL (1000m%4 Y ) — £ R fli &
A " FiAZ L
T Fifi FE B AR« SHE| HAL I E & fifti| 4 %A i
EEEER A
RhHEE %




wso07T 5 N7 v 7 gL (IR 720 ) — {2 AR Al &
N 7 Wi 2 t A
T fil il AR - SHE[ AL 12 E(HE | & (U] H
—E LT N
2 I 0
PRARR K| 1.000

e = 1. 000




